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( AT # 25 284, HHwy)

Lo xMx+l #5% x'3x3-1 %8 % A ax+bxtc, 4 X & dxte, B
atbrcrdte =2 (A)0 (B) -1 (€)-2  (D)-3

2. % A B, C =25y BAZ 53] 51 A(L, 2), B(1, 5), C(4, 6), 8] AABC 4=

FReiFa BT 2(A)3+V5+VI0 (B) V83 (C)8+410 (D) 14
S HEH% Lix-y=b 8% P(a,3)fe Q(3,5), 8] atb=2

(A) 1 (B)0 1 (D)2
% f(xt2)= (x+3/x+4), B £(1/2)="
(A)3/5 (B) 2/3 (C)3/4  (D)7/9
5. % & f)=5x"+4x+] £ x=a BHENE b, B a+2b=?
(A)-1/5 (B) 0 © 15 (D)1

6. —-4@ RTP A S M, 3FEK, 2 MEKA | BWEHK, wERSA
, BEA R, KEPRY 2 K, R BEEHEIBREL S L9
(A) 9/45 (B) 14/55 (C) 14/45 (D) 9/11
B PR L S B, HPueh 48, Feh 218, %en2m,
#ﬁf 8 MBI FHER— 7], £H HMEREHE?
(A) 70 (B) 420 (C) 840 (D) 2520
8. B 37800 AR A LR T, S5 30BN E %V 1E?
(A) 18 (B)36 (C)60 (D)96
9. FJF B (x)=x+(1/x), 8] F 5|47 318 B E 57
(A(x)=f(-x) B)(x)=-f(x) (O) f(x)=f(1/x) (D) fix)=(1/f(x))
10.4825 A(4, -1 ) B8 B 4 2x-y+5=0 T H Y AR H 42 & A 477
(A) x+y-3=0 (B) 2x+y-7=0  (C) x+2y-2=0 (D) x+2y-4=0
.84 4<(2x-3)° <25, XK x 698825472
(A)-1<x <(52) (B) -3/2<x<-1 & 52<x<4 (C)-l<x<4 (D)
SlI<x<(12) & 52<x<4
122 mE#H a b, c,d RFLAH, B a<b<c<d, a+d=28, b+c=12 K
N ZAE BE? (A) 1/4 (B) 1/3 (C)3 (D)4

13.3% a=log,,b= log, ¥l a b k% log,,, Bl logli=?

(A) a-b-1 (B) a+b-1 (C)-atb+1  (D)atb+1

14. Bl BG4 40 2 N E QBT — R, 2 2 BB F 5 369 25 $048 5] T 4% 220
7L, HRIZAM S0 /U, RILRIZHAIFLMABEEL S O
(A) -85 (B) -5 (C)5 (D) 85

DY LAREIRPYE, ABREGTRH0AE 1/4 31 23, 292 =
AEGR—H, BIEVF — AR E B
(A) 1/6 (B) 7/12 (C)3/4 (D)5/6
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A

IORAME = RHEm— 5], BREZFMRHEB 4, RILH 5 D AEHE?
(A) 72 (B) 120 (C)720 (D) 5040

TR FAPFRERE—HAIMFFETEGWA LI, > FHABATFGO S QA
# 30 ~R%&. BAR-MIFFERAGWAA 60°, RIS FHIEFH

£V aR? (A2 (B) 15 (C)18 (D) 1543

I8 F 59— A4 ¥ A &8 4x-2y+5=0 F-477

(A) 4x+2y+5=0  (B) 3x-6y+8=0  (C)2x+4y+5=0 (D) 6x-y3+8=0
EFRACRES B 9RH—R, MEVH2MERAETGHEE AHT?

(A) 11/16 (B) 23/32 (C)25/32 (D) 13/16

205 R FAH S0 BARHE 3 4 A& 10 EAE¥% 7, i%#ﬁi*ﬁﬁ&ﬁx:ﬁéﬂ&?
ME, SFAALRPEBER 2 HEY, RAFREHLEONRY
BA %D ? (A) 20 (B) 36 (C)44  (D)50

21, 0 AEH, % wand=(5/12) H sind <0 8] sind -cosfd=?
(A)—(12/13)  (B)—(7/13) (C) 7/13 (D) 12/13

223 a,b,c,d W EH ZFL# ], 3 ab=(cd/81), B sbE 5|8y N LE A T2
(A)2 (B) 3 (C)9 (D)8

233 PR Cp mRATH n AAEHER m BeHER S8 m A K,

ZP=120 €, B n=? (A) 4 (B) 5 (C©)6 (D)7
2.4 (2x-y°) 9ERMA T, x'y' EeyhE A 7

(A) 240 (B) 260 (C)280 (D) 300
25.F 3 F A % 3K

(A) (1/x) +4 (B) 2x+8 (C) 13/(5x-4) (D) 6+x +2




